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Morning Session -1

Ranga estimated Raju’s expected height at the age of 20 years,
based on his height at an age of 2 years. The principle
underlying this is

1.
2.
3.
4.

Development is continuous
Development is cumulative
Development proceeds from general to specific

Development is predictable
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According to Piaget, the cognitive structure that helps the
individual to understand his / her experiences is

1.
2.
3.
4,

Libido
Schemata
Insightful

Perception
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The stage at which the symptom of ‘senility’ appears in
individuals

1. Childhood

2. Adolescence

3. Adulthood

4. Old age
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According to the Erikson the stage is feeling as “Initiative and
Guilt”

1. Childhood

2. Play stage

3. Early Adulthood

4. Adolescence
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A student is capable of learning a subject perfectly but learns
only a little of himself the rest he learns perfectly with the help
of others. The difference between a student learning by
himself and learning completely with the help of others is
called as

1. Zone of apex

2. Zone of development

3. Zone of professional development
4. Zone of proximal development
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Child Apperception Test (CAT) was developed by
1. Skinner

2. L. Bellack, S. Bellack

3. Ebbinghaus

4. Herman Rorshach
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A student’s chronological age is 8 years and his mental age is
10 years. His 1Q is
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1. 100
2. 120
3. 115
4. 125

“Action Research is a process searching for solutions of real
life problems”. This definition was given by

1. Stephen M. Corey
2. Stiffen Kemmis

3. B.F. Skinner

4. Abraham Maslow
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Thinking about one’s own thinking is

1. Reasoning

2. Perception

3. Creativity

4. Metacognition
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Identify the incorrect pair

1. Type theory - Cattell

2. Trait theory - Allport

3. Psycho analysis - Freud

4. Psycho Social development stages - Erikson
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11.

12.

13.

Conditioned stimulus in the classical conditioning is

1. Saliva
2. Food
3. Bell

4 Water
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As per Ebbinghaus retention curve, the percentage of
forgetting after 2 days is
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The ‘concept of time’ at initial stage
1. Concrete & simple

2. abstract & simple

3. concrete & complex

4. abstract & complex
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Identify the incorrect pair

1. Affective domain - Receiving

2. Cognitive domain - Synthesis

3. Psychomotor domain — Evaluation
4. Affective domain - Characterization
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Raju learnt a set of 25 meaningless words in 20 attempts. After
a week he relearnt the same list. This time he took 8 attempts.
His savings score is
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When a person who can draw with his right hand can also
easily draw with his left hand shows this type of transfer of
learning

1. Positive
2. Negative
3. Zero

4, Bilateral
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Figure Ground relation was first explained by

1. Morgan
2. Hunter
3. Rubin
4. Peterson
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18.

19.

Bruner’s theory of instruction gave more importance to this
type of motivation

1.
2.
3.
4,

Extrinsic motivation
Achievement motivation
Intrinsic motivation

Creative motivation
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The term ‘emotion’ is derived from

1.

2.
3.
4

German word - Emovere
Latin word - Emovere
German word - Emove

Latin word - Emove
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21.

‘Learning is the process of change in behaviour due to

experience and training’. This definition was given by

1. Hilgard & Hunter

2. De Cecco and Crawford

3. Kimble

4. Hergan Han
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The disability in Reading is due to

1. Alexia
2. Aphasia
3. Agraphia

4. Disphasia
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23.

24.

The meaning of file format ‘.bmp’
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1
2.
3.
4

Bing map files
Bit map files
Bing media programme

Bit media programme

Driving according to traffic light is related to

1.

Stimulus generalization

2. Stimulus Discrimination

3. Extinction

4. Spontaneous recovery
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‘ECCE’ stands for

‘ECCE’ ey S

1 Early Care and Continuous Education

2. Early Childhood and Continuous Education
3. Early Care and Compulsory Education

4 Early Childhood Care and Education
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This section refers RTE — 2009 as ‘the right of children free
and compulsory Education’

1. Section 03
2. Section 04
3. Section 01
4. Section 06

RTE — 2009 53 & ‘the right of children free and
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Continuous Comprehensive Evaluation (CCE) initiated in
Andhra Pradesh in
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3. 2014 - 15
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Lakshmi failed in love then started writing poems to forget it.
This is

1. Projection

2. Sublimation

3. Reaction formation
4. Displacement
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‘Udacity’ is

1. An organisation for providing MOOC’s
2. Multimedia Software
3. Rubric
4. Cracker
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The aim of ‘Sarvepalli Radha Krishnan Vidyarthi Mithra
programme’ in A.P

1. Providing quality Education

2. Providing quality teachers

3. Providing student Kits

4. Providing infrastructure in Schools
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Concept of LAD (Language Acquisition Device) is related to

1. Skinner

2. Chomsky

3. Bandura

4. Kohlberg

2L e 000(&80 (LAD) a5 D88 002080058
L 95

2. S,

3. 208I°0°

4. ?523(/’5?



31.

32.

RS0 S50 ATd) 2thiy S0 K. ©0 TR
008 $D)) S0 TY SVOLT0EIR. WETE IJDHI O
DSTEDD TAHHI0 F0F R DOES CHIZ0 IT BOBBOWHHY)
3o 250 SenTe B D DooKSn SFAB e 8 ooRes’
BOAD. A IS ¢ JeoSEAD. & JAE Bs e &N
PIBS XD

“PSTPOS0S B A INPS0 TTEd AW IS0 $08°
SIS

L g
2. ghre
3. FPosw
4. TOHHIN

DS 5008° rESBE0S” Hewon ISP, BIS ITT O™
BE IS CPIrERHEI0 BEHIS HoE0. T, VHTOY
ordasren [HEPSoN HrsEos” A@osngron. gD
2IS0S I Fomyen TErdend” VG000, TUErEHET)
SO IBFC50H arEAA0e $r¢02) BSS (50 BT S0
PR,

R AER§) ©8000D ardsod” ABoswsS wowen
1. oD, 15308 oemdasren
2. g s B2505°D D&, 350
3. 382002 ;553526
(]
4, Zaeﬁo)s%zg POFOS



33.

34.

35.

B350 B3I BI50F A0
JOP TOZ0S0 K0St
S0ES I ER) HBY Sopowd
TVFIY B A% DAY
2 9e5508° KHo(Eod 5 IBSE® Feryehd
1. Borsro0 BrthdS”

SRA0E HOEIS”

2
3. HENE oS
4. IV (D308 BgISE”

DO 5 SEIRY

OS50 5263 MH8I0; 223D eSS0
FHOHHSD 8Y K020

Kra5o% Fndd HSOSN) 8¢ HIror]

DENIOE S JEPEETEED IS 5 @IND.
1. DY T8ST DR Seeren

HHPDH VoS0 EORT Srdren

%230 EOR0T Sesen

Lol

3SHO HIW FNET Sreren

“B (DO 93 00 2 Ko 5
1. 2E &8 esdH
%8 goor J3r&

E gree :5‘0'?0‘\)5

Lo

2E ST eserd



36.

37.

38.

300 D5 PO TP (E008° @HB)0s.

.

€3,

3.

!—\

e N

), B30 CHDT T RS
EROSI00 I BB OBTIPE
Boow AHoBIY) TV IOS0ED
RODEL BeoSIPGHYES oG

®, 83, 3, &3

B3, ©, &3, 3

®, 3, &3, 53

53, 88, 9, @

8035 303 Foren - PO $BS A Kr90S0s.

1.

Ll

66& Agaso - RODO
5085 o dDASwen - 58
ErET 205 - BISV(S0

S0NVTTO - DOLTPAE

270 SO B D

1.

Ll

DO
3095;53&
SUISHE &6333
<U°KZ§J&



39.

40.

41.

42.

BB - 9N TSI SHEFIIYA DESES SHo

1. BoerY)
2. BIND

3. @53;5.13
4. @530»

‘BeSY - DA eﬁgo

1. B ale
2 Qo8
3. J"g?f’a
4 AN SFeLS)

TRY DS (PED

1L sy

2 %)3;)950
3. Sl

4 §i5jo

Be¢8:50, 65&0 - DOYELBETRONT Ko pfote

1. popla3le!

2 Pala:3{e)

3. platle)

4 P Te INY



43.

44,

45.

46.

3535%¥8%508° "R, DDBIZ” 938

1. 0¥¢0
2. SnEso
3. $SoEs0o
4. ;Soo@“’ag@ééo

OO 5 @000 bcsgcsasaoz)é EDRFR0TI

1. DI
2. RIARVISY
3. QDogHven
4. Usten

T De¥DH 88 Sn)” A DD
1. ©93eEd Do

2. 235°0
3. e335°F0
4. Zae;:) 8

QOL, POEBSID - B8 DTN mm%wm Ko HESo

1 es8%%es
2 oPRAE?
3 RISV
4 >0



47.

48.

49.

50.

e XT"Q%%@G ErEr &S0y’

1. DST°A0

2. DOBA
(ep]

3. éoég

4. A

3

DOV - H8 DI EBT $J) S0
L esBHen + 30

2. esHEeN0 + DO

3. eSHend + 90
4

3508 + DR

K0Be0 D0GD e385%3S e IGS° oo SSeéod.
53 s°§§oe56§) ENSTS0

1. Ko0GeD
2. &8s
3. o

4, S0

(sp]

808 TAS° WAoo B B0

1. BES AN IS
*

2. es38e3°Q0)

3. 200300

4. PISOINTS)



51.

52.

53.

SESTS SOE 9DSTHE |30

1. g;sg§o

2. Z&:Sgéo

3. ygso

4, eﬁosiao&ag§o

WODEITY DS OFETO KHB0D DETGL 1900k
©.  BI% a0d FF0 105 ©Fso

es. B |POAAHIH0 Ko

3 O3 (R 00d IcHITE

Ba. B o0& F0 115 ©550

1. ©, €3
2. e, 53
3. 3, 53
4. ®, 3§

208 TAS° ¥BID
9, eﬁé@&zy@o - @57@2@55"260
es, Xueao&zpoéo - &Smé;ﬁ%o

9

SFBoBIven - &OSKm;ﬁJ%o
Bs. $IBOBE - &Smmﬁrbo

!—\

®, 3
es, 53

0, &

LN

3, &3



54.

55.

56.

57.

EIP DEEITY modE SE1oTe”

B8 35408 DO S 3 g0

L modd &lp dergiro S0

&P DSYT0 oRR DS SEDEB
modB &Jp Do $EDODOY

L

mobE IS &Iy dergiro SE2oES

308 TS’ HSEE IS

1. 22008 3):5°>e§o, :gycisbosdo - ;Smgéago

2 €9: ZJ;SQ)éo, :gjt’czséosdo - §06§o

3. 6! DOIYBO, GHOATO - 2,00

4 2 B3RS HOZBO, GSTHRTO - K080

2.8, 105, 2530 e¥Sosor &5)BosKe HeS
RIDOTATRY) DO,

1. O0DN

2. Heo% B
3. SO0S1S
4, B3°D) 1Y

Foogo¥ SN FIS (E3008° D36

L. (P30

2. RalepiNe
3. Rarso
4. 50)



58.

59.

60.

AT§R© DOYY SrEHEH) wDID Tl
1. RS (PO

Z)CS°§ (DeETVE

08 (DeTdS

~wN

QOPKS (DeTPE
(o]

&ITTEI0 A DBEBeD, DAATAY BJS FgrgT8,
iS5, B AT ©Zo TNESEIS, FHEIS
OIIIHLD EITrRDES08 BY) IX)S TR,

1. BTSS0S D8

2. 2 @355)‘3
3. ?J°® 835553(\)
4. BN c;°e§

STPRS0, DD X)cgdm, eaei):so)gédiicéo B8 0700 900
WE ) SoTergosTY NS0T

1 (DITeTErOS J9TeRg05S0
2. NTOBT Horeg0ES0

3. (BSOS S07ergoESo
4. Qo S0rergoSSo



61.

62.

63.

64.

Identify the grammatically correct sentence:

1.

2.
3.
4

Although it was raining, but we went to market.
Although it was raining but went to market.
Although it was raining, we went to market.

Although it was raining, so we went to the market.

Identify the correct verb form for the sentence:

6‘We

1
2.
3.
4

confident.”
am
are
1S
be

One of the following is the study of living things:

1.

2.
3.
4

The following sentence uses a modal verb to express

Psychology
Sociology
Biology
Botany

permission: “ I leave early today?”
1. Must

2. Can

3. Should

4 Will



65.

66.

67.

68.

Choose the correct capitalization for the tittle of a book:
1.

2.
3.
4

The following should be included in the legacy section of

the catcher in the Rye
The catcher in the rye
The Catcher in The Rye
The Catcher in the Rye

a biographical sketch:

1. family background
2. current status

3. awards and honors
4 career beginnings

Choose the sentence in the present perfect tense:
1.

2.
3.
4

Choose the auxiliary verb used in the simple present tense for

She is reading a book.
He has finished his dinner.
They will arrive tomorrow.

I was playing foot ball.

the third person singular form:

1.

2.
3.
4

do
am
does

have



69.

70.

71.

72.

The following is not an imperative sentence:

1.
2
3.
4

I was hungry, but I waited for dinner.

Take your seats.
Could you pass the salt?
Clean your room.

Finish your homework.

Choose the sentence that correctly transforms the compound
sentence into a complex sentence

1.

2
3.
4

Although I was hungry, I waited for dinner.

I was hungry, so I waited for dinner.

I waited for dinner because I was hungry.

I was hungry and waited for dinner.

Identify the type of conjunction used to connect two main
clauses in a compound sentence.

1.

2.
3.
4

Subordinating conjunction
Relative pronoun
Coordinating conjunction

Conjunctive adverb

He studied hard for the test.
his performance.

Choose the option that fits the blank

1.

2.
3.
4

Despite
As a result
Because

Yet

, he was confident about



73.

74.

75.

76.

Choose the correct sequence of the words in which they occur

in a dictionary

1.

ii.

iii.

b=

surprise
stories
someone
suppose
i, iii, ii, 1V
iii, i, 1, 1v
iv, 1, i, iii

iii, i, 1v, 1

Choose the correct spelling of the word.

1.

2.
3.
4

Identify the sentence that used the indefinite article before a
name to indicate that the person is known to the speaker by

Conscinteous
Conscientious
Conscintious

Consintious

name only.

1.

2.
3.
4

A Miss Lily has come for you, dad.
A dog is faithful.
He thinks he is a Napolean.

I met a magician last week.

the main issue, everything else is fine.

Choose the correct preposition that fits the blank.

1.

2.
3.
4

But for
Aside from
Because of

Far from



77.

78.

79.

80.

Perhaps the police had to set his house on fire to force him out.

Choose the synonym that means ‘force’.

1.

2.
3.
4

He also felt a special interest in a fellow student, Mileva

Compel
Encourage
Allow
Relent

Maric, whom he found to be a clever creature.

Choose the antonym of the word ‘clever’.

1.

2.
3.
4

intelligent
bright
smart

dull

Select the correct indirect speech for:

She said, “I have passed the examination”.

1.

2
3.
4

Sudha had to

She said that she have passed the examination.
She said that she had passed the examination.
She said that I had passed the examination.

She said that she passed the examination.

circumstances.

Choose the correct phrasal verb that fits the blank.

1.

2.
3.
4

take after
look forward to
get over

put off

her plans to travel due to unexpected



1.

82.

83.

How long have you and Bill known  ?
Choose the option that fits the blank.

1. themselves

2 yourselves

3. to each other
4

each other

Identify the interjection in the following sentence:
“Yuck! This milk is sour.”

1 This
2 Yuck
3. Milk
4

Sour

Read the following passage carefully.

India's diverse wildlife is a testament to its rich natural
heritage. The Bengal tiger roams the dense forests of the
Sundarbans, while the Indian elephant is found in the lush
Western Ghats. National parks like Ranthambore and
Kaziranga protect endangered species and offer a glimpse into
the country's thriving ecosystems. India's wildlife is an integral
part of its natural beauty and environmental conservation
efforts.

The Bengal tiger is found in the dense forests of the
Choose the option that fits the blank.

1. Western Ghats

2 Himalayas

3. Thar Desert
4

Sundarbans



&4.

85.

86.

Read the following passage carefully.

India's diverse wildlife is a testament to its rich natural
heritage. The Bengal tiger roams the dense forests of the
Sundarbans, while the Indian elephant is found in the lush
Western Ghats. National parks like Ranthambore and
Kaziranga protect endangered species and offer a glimpse into
the country's thriving ecosystems. India's wildlife is an integral
part of its natural beauty and environmental conservation
efforts.

Identify the national parks mentioned in the passage:
1. Ranthambore and Kanha

2 Kaziranga and Periyar

3. Ranthambore and Kaziranga
4

Jimcorbett and Bandipur

Choose the best option that fits the blank.

is the basis for language learning and forms the
foundation for overall language proficiency.

1. Speaking
2 Writing
3. Listening
4 Reading

Choose the best option that fits the blank.

Making connections, asking questions, inferring and

predicting are strategies for reading.
1. reflective

2 rapid

3. social

4 scientific



Choose the best option that fits the blank.

The method involves translation between the target
language and the mother tongue.

1. Grammar Translation
2 Direct
3. Bilingual
4

Structural

Choose the best option that fits the blank.

CLT may have a limitation that it requires _ teachers.
1. inexperienced

2 skilled
3. untrained
4

passive and unqualified

Choose the best option that fits the blank.

The combination of speech sounds to form syllables or words
is the first level of

1. syntax

2 pragmatics
3. semantics
4 phonology

Identify the aspect of English that relates to understanding
word meanings and sentence relationships.

1. Phonetic aspect
2 Semantic aspect
3. Graphic aspect
4

Structural aspect



91. A4=2x"-3 and B=3x-2x+4 then value of 24— B is
A=2x"-358050 B=3x"-2x+4 @008 24-B
B0E) QS
1. x*=2x-10
2 x*+2x-10

3. x* =2x+10

4

x> +2x+10

92. Ifactual time in clock is 3hrs, the time shown in mirror is

1. 9 hrs.
2. 6 hrs.
3. 5 hrs.
4. 7 hrs.
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94.

Among the following statements the True statement is
1. 40 persons : 200 persons =315 : 60

2. 99kg : 45kg =340 : %20

3. 32m : 64m = 6sec : 12sec

4. 7.5litres : 15litres = 10kg : Skg
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1 40 Sg5e0 1200 $Sg5e0 =15 :360
2. 99 & : 45 & =340 :%20

3. 320 :64 =6 DEe 12 DEew
4. 758 :158 =108, : 58w

The numbers which divides 3684 are
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1 2,8
2. 3,4
3. 6,9
4 4,9
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96.

Which of the following is NOT TRUE
1. 1 crore = 10000 thousands

2. 1 ten = L thousands
100

Predecessor of the smallest 5 digit number is 9999

4. The successor of a two digit number is always a two
digit number

808 AS° Jeo O

1. 1 §%3 =10000 Je»
1
2. 198 = — I
100
3. 5 ©o3s® {’)‘6& 30335 B0, ZQPCZS 60335 9999

4. TO%> 8080 Doy B8, GES VOP§ JYIPEI TOL
©OS® JoPg HO™

Ram has 200 cows with him. Food provisions for them last for
90 days. If he buys 25 more cows then number of days the
food provisions last is

oe K 200 esPeoTNow. 38 90 FreHd VOIE e
DTTe0 FOY). 9B @SSO 25 o 8083 eS8y Sorgren
$0%6 Swe dogpg

1. 70
2. 80
3. 60
4. 75



97.

98.

99.

Selling price of a toy is ¥1080. If the profit made by the
shopkeeper is 20%, then the cost price of the toy is (in Rs.)

28 F') 003 Io T1080. HAP Sosermrtdodd 20% oraso
5 & Ty FYHIo (8r. 08")

1. 1296
2. 1350
3. 900
4. 864

The curved surface area of a cylindrical toy whose radius and
height are respectively 7cm and 21cm is (in cm®)

720.20. 0050 2120.Q0. SERF FERPE0, JET Ko
ALY 5755y SESe Peeso (S0 o)

1. 1748
2. 924
3. 147
4. 3

Range of the data 12, 4, 5, 11, 17, 19, 14 is
12, 4, 5, 11, 17, 19, 14 &S&208520 &%), s"a@o

1 15
2. 14
3.
4



100.

101.

Identify the correct statement(s)

A.

b =@

Number 5 is added to the product of ‘p’ and ‘g’ is pg + 5
Number 4 is multiplied to the sum of ‘x’ and ‘y’ is 4x +y
A & B both are true

A is true and B false

A is false and B true

Both A & B are false

DB F°EGI(0)D HGood.

A.
B.

1.

P’ B ‘¢’ © ORINIH 5 5ODB pg + 5 3008,
X7 508350 Y’ © o0 4 S° HE3) 4x +y 5008
A 508050 B 8535

Abeﬁ&‘,ﬁw o B @269553533

Aeﬁ:()e%;ﬁoo OB B:i:e§§;533

A 08050 BTdo&ke ea:@éag;in

A flooring tile has the shape of a parallelogram whose base is
13 inches and the corresponding height is 9 inches then the
area of 4 tiles is

1.
2.
3.
4.

468cm’
246cm’
468m*
468Sq.inches

2.8 FB0A 8BS 13 woree 4, 9 WOKITL VXU
Ao DITOBE SEE BTVOS” &od. wanS 4 B

o‘:‘m§b_ Q-S"e)zgo

1. 4685.200.20

2. 246520.0

3. 4683

4.  46835.00K0w°e0



102. There are three equal sectors A, B and C in a spin wheel. The

103.

104.

probability of getting sector “not C” on spinning wheel is

28 SE0S° A, B 500050 C eF M $irsS DG 0.
SR VS “ C” DTE FoLSK0G LoD DOLPEGS

Syam purchased a new shirt at a discount of 30%. If he had
got no discount he would have to pay ¥480 more. The amount
paid by Syam is (in Rs.)

TR0 28 TR0 30% SR0INS” FINE. 28 Y oS0
BEPow &0l eS8 B0 ESor IYoBIod SHO.

Bond TR0 oD InGo (8. ©8°)

1 1600
2 1120
3. 2080
4 816

100m 75¢cm + 25 = (in m)
1002 7520.2 + 25 =(%». o8°)

1 4.3
2. 4

3. 4.03
4 4.003



105.

106.

107.

108.

Number of diagonals of a regular Decagon is
2.8 (% &3ghel Bk ST Do

1.
2.
3.
4.

65
40
60
35

Compound interest on 10000 for 2 years at 10% p.a
compounded annually is (in Rs.)

210000 % 10% ;sé BenS® $03SYT8 :,sé BEKKeR DEBS
2 $058)0°0% edly IESE (6. o)

1
2.
3.
4

1200
2000
2100
2200

The sum of 15 observations is 225. Then the mean of data is
15 2880070 BR0 225 @90 $ERodn R, DKew

1.
2.
3.
4.

[||m and n is transversal line then x + y = 7

[|m 3>8050 n 8B wo0d x +y = i

10
15
20
25

80° /
= \80° =




109.

110.

111.

112.

(=3)"" x(=3)"" = (=3)""* then the value of ‘m’ is
(=3)"" x(=3)"" =(=3)""" @S ‘m’ JeS

-1

0

PP

If the cost of 100 pots is I855, then the cost of 5 pots is (in Rs.)
100 $0%0 I W55 ©owS 5 Hoke o (8r. o)

1. 40.75
2. 40.11
3. 41.11
4. 42.75

LCM of 7, 49, 343 is
7, 49, 343 © 5.0

l. 2401
2. 343
3. 147
4. 49

Sum of interior angles of a convex Hexagon

2.8 0750 W @od Sero o

l. 540°
2. 900°
3. 1080°
4. 720°



113. Volume of a cuboid whose length, breadth and height are
respectively 12cm, 3cm and 2cm is (in cm?)

12250.20, 320.20, 2 0.2 e SEHA P&, Seeny HBAw
oo e BY 3030 08585760 (3.20.0.087)

1 36
2. 72
3. 66
4 132
114. (p’q-pa’ - pa)+ pa=
1. g -p° -1
pg-q° -1

2 2

2
3. p’-pg-l
4 p —q -1

115. Select the correct order of the following steps in problem
solving method

1. Defining — Identifying — Collecting — Organizing
2. Collecting — Defining — Identifying — Organising
3. Identifying — Defining — Collecting — Organizing
4. Defining — Collecting — Identifying — Organizing
DIy HOIY G HEBS'V TP FF T (ES7Y) JOSHE S
L QBDOBEO - KYOSEO - DEDOSEO - S§IQEO0SE0
2. EDOBEO - AHDOSEO - HYOSEO - IFIQEO0SE0
3. IHBOSEO - DKDOBEO - DEDOSEO - S§IQEO0SE0
4

DBEFDOSEO - DEBOSEO - KOBEO - SGSQSBOLBEO



116.

117.

Curriculum means

1. Subjects that are transferred by the faculty

2. Syllabus prescribed for the course

3. All the experiences which students get in the school
4. Class room experiences, sports and games.

Z)CS"ZS (DETRE I

1. EFTIO0OT WOSEES BPEen

&5 S ErFrodotnGS dowd

RSN Deegiaen oL @) BT

W

SEKS KO eozizren, §Ee, estoen

Students can instantly check for themselves how far they could
understand the concept by one of the following

1. Try these

2. Think - Discuss
3. Writing activities
4. Do These

Argg & 3&3&@ LTSS 9SS JOSRBL 23BR0LSI
DAY Boers Benssso £%0 eg%ozm&as&

1. Relewt[eln el
e35°D0S08& - SByos0d

o°ed §°)@1§®o

L

39 R00é



118. “Judging the quality of performance of children while learning
is going on” is called as

1. Evaluation

2 Assessment
3. Measurement
4 Test

“eRIS ISR ¥300508° AR AANES TeagSd
QY050 DN

1. ;SJJ°QJ°§O§<SO
Nlale))
SIS0

W

58%
W



119.

The following are the properties of Analytical approach

d.

c.

No need to byheart, No home work at all
Boosts self confidence in learners
Students complete the task very quickly
Students start thinking creatively

There will be a reason for every process

308 TS DFhed DS By, KoeTew

a.

b.

el

50830 BAFAYS WSVE0 B, o3I GOED.
3@5%@; S DFAH0 DOTFOLS0D

dergen wror IHom DA Y8 BXD.

g DS SO e3S D OE0 en ETD
DS FPTAE SAS T &0e00d

a,b,c,d
b,c,d, e
a,b,d, e

a,c,d, e



120. This fundamental operation can be learnt easily with the help
of Napier strips

1. Addition

2 Subtraction

3. Multiplication
4 Division

I8 BODHBETAD, B (FEWE (BT WP

SEYESS) .
1. Vo8I0
2. SgEss0
3. Ko833°80
4. iS850



121.

122.

Translucent object among the following is

1.

2.
3.
4.

Air
Mirror

Fog
Card board box

$0BTIS® FEE IS 5899

1.
2.
3.
4.

&
6560323;533
K 500

98I DE
o [N

A copper spoon is dipped in a cup of hot tea. Its other end

1. becomes hot by the process of conduction
2. becomes hot by the process of convection
3. becomes hot by the process of radiation

4. does not become hot

25 38 & 59pS° 28 oA Bow $00TEIE. T
308°% D38

L eRsoes (P8 oo 3B,

Ll

ERVOTTS (A oxor IR &
D85es (D80 GO IR L)
ey .



123.

124.

The major component of antacid tablet is

1.

2.
3.
4.

Sodium carbonate

Sodium hydroxide
Magnesium carbonate

Magnesium hydroxide

AI0eTE STSS” &0t (DS NI

1.

2
3.
4

Do sENIE
Fa&awo TIEE)E
Ddifhhao SENRES
Do TEEE

The correct statement from the following

1.

2.
3.
4.

PVC is a thermoplastic.

Metal cans are biodegradable materials
Plastics are good conductors of heat

Melamine cannot tolerate heat

$0BTISE’ B[S TG

1.
2.
3.

PVC e §8 )58
R SO a§;5§)€)‘1):§>)o 308 Hergren
%@5@3 H0D GRITTeeD

DOPOR G SeNEBL.



125. The planet with highly tilted rotational axis

1. Earth
2. Venus
3. Jupiter
4. Uranus

DO° D TP (PETE0 Ko (K0

1. AN

2. DS
3. aao):mo)@
4. 330D

126. The part of a flower that contains ‘style’ is
1. Stamen
Pistil
Sepal
Petal
2)08" ‘800’ SORCEHN0E &Ko

Ll

_Rs

B850
908550
558 $\g50

L

es55E D50
o



127. The cell organelle that do not have their own DNA

1. Endoplesmic Reticulum
2. Nucleus

3. Mitochondria

4. Plastid

éosoé DNA S 808 &0o& SeseoX0

L o85S (G55re0

2. SoEso
3.  D&SsolGos
4. X6

128. The digestive juice that contain the enzyme pepsin is

1. Gastric juice

2. Bile juice

3. Pancreatic juice
4 Intestinal juice

D) G OB EOR G0 BP0

1. t~Toleletsle
2. ’6.3656260
3.  §Sovo
4. e30(BED0



129. The gland that releases the hormone, ‘Gonadotropin’ is
1. Ovary
2 Testes
3. Pituitary
4. Adrenal gland
&S DT $86%)0% e Jawo (Kol

1. @_op D2&%0
2. 3533?./3{)_0

3. DO5TA, K08
4. &3S Kod

130. Endemic species means

1. Species found in a particular area only
2. Rarest species

3. Species facing extinction

4. Extinct species

AOEWE reden oS

L 2% PR (Fosos’ Sr@dH &0t ardhen
O3PS e

WOBBONT Y e

Ll

903800 PN



131.

132.

Identify the correct group that contains only indirect
means of communication

1. Post card, phone call, shaking hands

2. Mail, post card, phone call

3 Shaking hands, mail, post card

4. Talking with friends, shaking hand, phone call

287 a8 38500 FETo IS OA &) $BS
DY) K800k,

L ¥FPsE, FId, s8Teso
v, FISW, NSO
E5T0S50, 00O, iﬁefgs"g

L

'5%)35°e§oe>e§s SPETEE0, EET eSO, PSS

The following is not a reason for formation of slum

1. Permanent shelters

2. Informal economy

3. Poor planning

4. Increased population density

80BAS® 5208876 IBYEEAS S0 A
1. TRS QT

2. &85 danho(Bes BEFSE0

3. (Perds %0

4. BIFO(ES DBKEO



133.

134.

Identify the incorrect pair regarding the hills located in various
districts of Andhra Pradesh

1. Velikondalu - SPSR Nellore
2. Yarada hills - Visakhapatnam
3. Kondapalli hills - Prakasam
4. Seshachalam hills - Tirupathi

SOGHBIE™D Foden, 8 IJoF) BereH VowoHod VOS°
Q2B K800k,

1. IO80%eny - SPSR 3@5(;;63
a0 §Podken - Z)waazaée%sao

§0&Dd SPoken - (35050
(3p]

Ll

XS0 §oken - HHHN

‘Panchaganga’ is a tributary of this river
Krishna

Kaveri

1.

2.

3. Godavari
4. Ganga
D

osKoK Bs SO &I

1. §Q)i;3

2. 38

3. RS0
4, KOmeSE



135. The Pallava king who was known as “Rajasimha”

1. Narasimhavarma - I

2. Mahendravarma - I

3. Gauthami Putra Satakarni -
4. Narasimhavarma - 11

“TrRROTUE” @3 DHE” (HHB o8BS YIS ove
1. Jo0e5ed 56?00?5";56&

06 IOy

TSLYSTEEY

L

BOES 56?00:?;56&

136. “The Right to food” is included in this article

1. Article 23

2. Article 21

3. Article 22

4, Article 24

“e35880 FOB T B3 0R55S” gé &od

1. 3856 23
[h]

2. 3856 21
[h]

3. e3858S 22
[h]

4. e385S 24
[h]



137. A dry summer and moderate to high rainfall in winter are the
main characteristics of this region

1. The Savanna

2. The Steppe

3. The Equatorial

4. The Mediterranean

IS P& eSS0, Frsreos® 2 ¥ 5708 308
QY SYFS0 BID B (FPOSY (DS ©FE0

1. DIT (oo

Q) (oo
BrSOP° [Foso
DT (FPoso

WD

138. This area in India was not under the British Rule in 1797

l. Mysore
2. Banaras
3. Calcutta
4. Madras

SSBISD B (P00 1797 38 |DBR 0 es§50S® Seso

L o
2. BB
3. Sosae
4. D



139. Mirabai was the disciple of
1. Kabir
2. Ramananda
3. Vallabhacharya
4. Sant Ravidas
Teer0n I08 Bgoren

1. D8

2. O°ST°S 08

3. ;5992,?73"65
4. Do BITH

140. The minimum age to contest in the Gramapanchayat elections
is

l. 18 years

2. 21 years

3. 25 years

4. 30 years

%0 $0Tond INFeS® F& BaHeds GoTd)S
5D Sa

1. 18 Jonew

2. 21 Jdouew

3. 25 Jdonen

4, 30 Jdonew



141.

142.

‘Shifting Cultivation’ in Malaysia is known as

1.
2.
3.
4.

Milpa
Roca
Jhumming

Ladang

DBRCSTS” DTS SEII A0 T DT

1.

WD

Q)
&se

22 Q0oR
Soroli

Identify the incorrect aspect related to the political life during
Early Vedic period

1.

2.
3.
4

The chief of the clan was called ‘Rajan’
King ruled like a dictator
Kingship was not hereditary

The king was asserted by the assemblies of ‘Sabha’ and
‘Samiti’

SO ISy oredch 253798 1022080 VO SLEN)
K$o80506.

1.

Ll

BRO TPCNEED Ty @9 HODIE
orer A0S DOIFOOTIE
o850 ;50%@60?3650 Sl

o2 BOFOT AT’ Deiten §BOLDH i
308050 VW&’ 93 Bo&K Ve &OL



143. The word ‘environner’ from which the word ‘environment’ is
derived, is related to the following language

1. Latin

2. Greek
3. Hebrew
4. French

DO°5S8E0 (Q?Oosmsﬁooe‘i_) 9 D30 ‘53)0368265_’ 9 B8 o
D50 5008 &B)NFo0d.

L oS
2 GES
3. o(2a°
4 (@0

144. The National Archives of India came up in the year
O EAL WHBPTTO Bs HOSSBoS® Doryen Iawéod

1 1930
2. 1925
3. 1920
4 1910



145.

146.

After listening to the lesson on “crops” in the classroom, the
student express interest in visiting the nearby farms and
knowing about pests. This shows

1. Receiving
2. Organisation
3. Characterisation of value

4. Responding

AGY SEKS KOS’ “Dotren” JBo IY) SoNS SHES™D
SEFAH @O VoEH0D HoweH 80D DE 2o
K800 BooWETOF ¥ EINGTE. 38 HAD WordAod.

1. (XrosEo
SEHLDS
(]
BoPDS
()]

~wN

(DBDY08S

“Assessment methods should facilitate learning rather than to
know how much children have learned” is suggested by

1. SCF-2011

NCF-2005
Right to Education Act-2009
Kothari Commission 1964-1966

Sl

DYoo Jod 3&3&&5&)6@ B85 8 Sx5erg0850 BOHEAE
2303000 3&3?5@3% SEGeeshaer SHrergo8s TRy &oErd”

[CNRSOAlIAN
1. SCF-2011

2. NCF-2005
3. Qo) $60-2009
4

o8 EDAS-1964-1966



147. A small plant or part of a plant is collected, dried and
preserved in a

1. Acquarium
2. Diorama

3. Herbarium
4. Planetarium

DY) 050 R, 2o S Fod ) md Do,
0HEBE WEIEAS TS0

1. e&'sis@oﬁoo
2. [eSesualeNy)
3. rB)damo
4 sySTo

148. The percent of weightage given to Mapping Skill in
Summative Assessment in Andhra Pradesh is

OGBS’ HOYTETS ) HrerfosSos’ HeBYesgown
Se70000DS TEE] TS0

I 40%
2. 20%
3. 25%
4. 15%



149.

150.

“The Project is a problematic act carried to complete in its
natural setting” defined by

1. Stevenson
2. Kilpatrick
3. Billard

4. Bining and Bining
TN DYPIFSTTY, BOS BHI§S 8 US>8
@ AKDODS .

L PSR

2. &S>E§

3.  derd

4.  BIoK 38050 BIoK

The total number of Academic standards in Social Science is

FowE FRKOS® ITO0DT IT§ (PITeTL Vo

~N N D B

1
2.
3.
4



